《大学英语B》复习题二
一、交际英语
1、- This box is too heavy for me to carry it upstairs.- _______

  A：You may ask for help.

  B：I'll give you a hand.

  C：Please do me a favor.

  D：I'd come to help.
答案： B
2、- Unbelievable! I have failed the driving test again!  - _______ This is not the end of the world.

  A：Good luck.

  B：Cheer up.

  C：Go ahead.


  D：No problem.
答案： B
3、- Why didn't you come to my birthday party yesterday?-  ________

  A：Excuse me, my friend sent me a flower.

  B：Fine, I never go to birthday parties.

  C：Ha…ha, I like swimming.

  D：Sorry, but my wife had a car accident.
答案： D
4、--Hello, may I have an appointment with the headmaster?--_______________.

  A：Sorry, I don't know you

  B：No, you can't

  C：Certainly. Wait a minute, please

  D：Let me see
答案： C
5、--I went to the beach and got plenty of rest.--___________. You looked tired last time I saw you.

  A：I hope so

  B：Really

  C：I'm glad you did

  D：The sound was nice
答案： C
6、- How do you do?  

- _________

A：Fine, thank you.

B：How do you do?    


C：Not too bad.  

D：Very well.

答案：B

7、- Good-bye for now. 

- _________

A：The same to you.

B：That's OK.

C：See you. 

D：Long time no see.

答案：C

8、- Hello, how are you? 

- _________

A：Hello, how are you? 




B：How do you do?   


C：Fine, thank you.




D：That's OK.

答案：C

9、- I didn't mean to do that. Please forgive me.   

- _________

A：Not too bad.




B：That's all right. 

C：It's a pleasure. 




D：Thank you.

答案：B

10、- Thank you for your invitation.

- _________

A：It doesn't matter.

B：It's a pleasure.



C：It's a small thing.

D：I'll appreciate it.

答案：B

        二、阅读理解
Passage 1
Laws have been written to govern the use of American National Flag, and to ensure proper respect for the flag. Custom has also governed the common practice in regard to its use. All the armed services have precise regulations on how to display the national flag. This may vary somewhat from the general rules. The national flag should be raised and lowered by hand. Do not raise the flag while it is folded. Unfold the flag first, and then hoist it quickly to the top of the flagpole. Lower it slowly and with dignity. Place no objects on or over the flag. Do not use the flag as part of a costume or athletic uniform. Do not print it upon cushions, handkerchiefs, paper napkins or boxes. A federal law provides that the trademark cannot be registered if it comprises the flag, or badgers of the US. When the flag is used to unveil a statue or monument, it shouldn't serve as a covering of the object to be unveiled. If it is displayed on such occasions, do not allow the flag to fall to the ground, but let it be carried high up in the air to form a feature of the ceremony. Take every precaution to prevent the flag from soiled. It should not be allowed to touch the ground or floor, nor to brush against objects. 
(1)、How do Americans ensure proper respect for the national flag? _________

  A：By making laws. 

  B：By enforcing discipline.

  C：By educating the public.

  D：By holding ceremonies.
答案： A
(2)、What is the regulation regarding the raising of the American National Flag? _________

  A：It should be raised by soldiers.

  B：It should be raised quickly by hand.

  C：It should be raised only by Americans.

  D：It should be raised by mechanical means.
答案： B
(3)、How should the American National Flag be displayed at an unveiling ceremony? _________

  A：It should be attached to the status.

  B：It should be hung from the top of the monument.

  C：It should be spread over the object to be unveiled.

  D：It should be carried high up in the air.
答案： D
(4)、What do we learn about the use of the American National Flag? _________

  A：There has been a lot of controversy over the use of flag.

  B：The best athletes can wear uniforms with the design of the flag.

  C：There are precise regulations and customs to be followed.

  D：Americans can print the flag on their cushions or handkerchiefs.
答案： C
(5)、What is Americans' attitude towards their National Flag? _________

  A：Arbitrary.

  B：Respect.

  C：Happy.

  D：Brave.
答案： B
Passage 2

What makes a person a scientist? Does he have ways or tools of learning that are different from those of others? The answer is "no". It is not the tools a scientist uses but how he uses these tools that makes him a scientist. You will probably agree that knowing how to use a power is important to a carpenter. You will probably agree, too, that knowing how to investigate, how to discover information, is important to everyone. The scientist, however, goes one step further, he must be sure that he has a reasonable answer to his questions and that his answer can be confirmed by other persons. He also works to fit the answers he gets to many questions into a large set of ideas about how the world works.

        The scientist's knowledge must be exact. There is no room for half right or right just half the time. He must be as nearly right as the conditions permit. What works under one set of conditions at one time must work under the same conditions at other times. If the conditions are different, any changes the scientist observes in a demonstration must be explained by the changes in the conditions. This is one reason that investigations are important in science. Albert Einstein, who developed the Theory of Relativity, arrived at this theory through mathematics. The accuracy of his mathematics was later tested through investigations, Einstein's ideas were shown to be correct. A scientist uses many tools for measurements. Then the measurements are used to make mathematical calculations that may test his investigations. 
(1)、What makes a scientist according to the passage? ________

  A：The tools he uses.

  B：The way he uses his tools.

  C：His ways of learning.

  D：The various tools he uses.
答案： B
(2)、The underlined part in the passage shows_______.

  A：the importance of information

  B：the importance of thinking

  C：the difference between scientists and ordinary people

  D：the difference between carpenters and people with other jobs.
答案： C
(3)、A sound scientific theory should be one that _________.

  A：works not only under one set of conditions at one time, but also under the same conditions  at other times

  B：does not allow any changes even under different conditions

  C：can be used for many purposes

  D：leave no room for improvement
答案： A
(4)、The author quotes the case of Albert Einstein to illustrate __________.

  A：that measurements are keys to success in science

  B：that accuracy of mathematics

  C：that investigations are important in science

  D：that the mathematical calculations may test his investigations
答案： C
(5)、What is the main idea of the passage? ________

  A：The theory of relativity.

  B：Exactness is the core of science.

  C：Scientists are different from ordinary people.

  D：Exactness and ways of using tools are the keys to the making of a scientist.
答案： D
Passage 3
Education in the United States is usually divided into four levels. These are early children, elementary, secondary and higher education. School attendance is required in every state of the country, and in most states students must attend school from the age of 6 to 16.

    The first level is early childhood education. Its main purpose is to prepare children for school.

    The second level is elementary education. Education at this level is divided into six or eight grades, and children learn reading, arithmetic, writing, social studies and science. They also have art, music and physical education.

    The third level is secondary education. It is for junior and senior high school students. Some students take courses to prepare themselves for college. Other students take technical or vocational courses that prepare them for jobs after they graduate from high school.

    Higher education continues after high school. There are many kinds of institutions of higher education. Technical institutes offer two-year programs in electronics, engineering, business and other subjects. After two years at a junior college, students receive an associate degree and then they can continue at a four-year college.
(1)、What topic does the passage mainly discuss?

A：Education policy in the USA.

B：The four levels of American education.

C：The purpose of American education at different levels.

D：The subjects offered at different levels of American education.

答案：B

(2)、Is school attendance required in the USA?

A：Yes, it is required in the whole country.

B：Yes, but only in some states.

C：Yes, it is required in most states of the country.

D：Yes, but not until children reach the age of 16.

答案：A

(3)、At what level(s) are programs of technical and vocational courses offered?

A：The 1st and 2nd levels.

B：The 2nd and 3rd levels.

C：The 3rd and 4th levels. 

D：The 4th levels only.

答案：C

(5)、What would most probably be talked about in the next paragraph?

A：Undergraduate education.

B：Post-graduate（研究生）education.

C：Pre-school education.

D：Adult education.

答案：B

Passage 4
Pubs are supposed to be the Englishman's favorite meeting place, where he can get together with a few friends over a pint of beer and talk about football, or horse racing, or business.

    You may notice that the pub is the place for men, but not for women. Even now it is still not quite respectable for a woman to go into a pub alone; she must have a man to escort(护卫) and protect her. Perhaps that is partly why pubs depress me - they are intended mainly to provide for male interests, which are often pretty narrow. I think this male-dominated atmosphere also reminds me of my life back at school, or in the army, neither of which is an experience I much want to relive.

    However, I'm obviously in the minority. Most Englishmen have their local pubs, where they can escape from the pressures of family life or work, and if they are lucky, tell their troubles to a pretty barmaid. Indeed, many men dream of retiring from their 9 - 5 jobs and buying a little country pub, where they imagine they'll be the host of a seven-night-a-week party. This dream usually dies when cleaning up spilled beer at one o'clock in the morning.

    Still, there's pub for every type of man, from the city sophisticate to the rural primitive, and a man for every type of pub. And I must admit that, for someone who doesn't like them, I spent a lot of time in pubs of various kinds.
(1)、For what do Englishmen go to the pubs?

A：They go there to make friends.

B：They go to meet and talk with their friends over some beer.

C：They go there to see the pretty barmaid.

D：They go there to do business dealings.

答案：B

(2)、What doesn't the speaker like about the pubs?

A：The smell of alcohol and tobacco.

B：The complaints men make about their family life.

C：The male-dominated atmosphere.

D：The spilled beer all around.

答案：C

(3)、What are many men dreaming of?

A：Owning a pub and living like having a party every night.

B：Taking their female friends to their own favorite pubs.

C：Retiring from their present jobs.

D：Freeing themselves from the pressures of their family life and work.

答案：A

(4)、Which of the following can be learned from the passage?

A：The speaker is a feminist.

B：The speaker is nostalgic about his school days.

C：The speaker never goes to pubs with his female friends.

D：The speaker was once an armyman.

答案：D

(5)、What can you conclude from the passage?

A：The speaker doesn't like the atmosphere in the pubs very much, so he hardly goes there.

B：More and more women are now going to pubs.

C：Pubs are the only place where Englishmen can complain about their pressures  of life and work.

D：Different types of pubs in Britain cater to the taste of different types of men.

答案：D

Passage5

I am going to tell you a story about two drivers who wanted to park their cars in the same parking space.

    The man who arrived at the parking space first was rather old with gray hair. He was driving a large Rolls Royce. The beautiful car stopped just in front of the parking space. Then the driver turned his head and very slowly began to reverse his car into the space.

    Just as he was doing this, a young man in a Mini came up from behind. He noticed the space and drove straight in, nose first. The older driver in the Rolls Royce stopped his car suddenly. He was very angry and red in the face. He wound down his window and looked at the young man. But the young man wasn't sorry. He had got out his car now and he was laughing. "You have to be young to do that!" he said to the older driver and pointed at the Mini and at the space he had just taken.

    The older man said nothing. He just began to reverse his Rolls Royce again and crashed into the Mini very hard. There was not much of the Mini left when the older driver had finished. The young man watched what was happening and couldn't believe his eyes. He was angry and very red in the face. The older driver looked out of the window and smiled. "You have to be rich to do that," he said.
(1)、What is the story about?

A：Two drivers happened to crash into each other in a parking space.

B：Two cars crashed into each other due to the drivers' dispute over a parking space.

C：One driver tried to park their cars in one small parking space.

D：The parking space was too small to hold two cars at the same time.

答案：B

(2)、What do you know about the two drivers?

A：The young driver was quicker than the older driver.

B：Each of them had an expensive car.

C：They didn't see each other while they were getting into the same parking space.

D：Both of them were good at driving.

答案：A

(3)、What did the older driver mean when he said, "You have to be rich to do that"?

A：You are not rich enough to buy a new car like mine.

B：You are too poor to contend with me for the parking space.

C：You are not rich enough to park your car here.

D：Only rich people dare to do that.

答案：D

(4)、Which of the following statements about the young driver can NOT be inferred?

A：He hadn't expected the older driver to react so strongly.

B：He hadn't thought the older driver had that much daring in him.

C：He was shocked to see what had become of his car.

D：He had expected his defeat.

答案：D

(5)、Which of the following proverbs is NOT suitable to describe the story?

A：Tit for tat.

B：The young and the aged will never agree.

C：Win at first and lose at last.

D：First come, first served.

答案：B

三、词汇与语法
1、On average, a successful lawyer has to talk to several _______ a day. 

  A：customers        

  B：supporters 

  C：guests             

  D：clients
答案： D
2、 Tom, what did you do with my documents? I have never seen such a _____ and disorder!

  A：mass            

  B：mess

  C：guess             

  D：bus
答案： B
3、Many people watched the boys ______the mountain at that time. 

  A：climb

  B：climbing

  C：to climb

  D：climbed
答案： B
4、On ________ side of the street there are some trees.

  A：both    

  B：either    

  C：every   

  D：all 
答案： B
5、Never before _______ see such a terrible car accident on the road!

  A：I have      

  B：have I 


  C：I did 

  D：did I
答案： D
6、Yesterday was _______ day that we decided to go swimming.

A：such  beautiful

B：so beautiful 

C：such a beautiful

D：a so beautiful

答案：C

7、At that time, she ______ on a journey with her friend.

A：is

B：was

C：has been

D：is being

答案：B

8、We are next-door _______.

A：neighborhoods

B：neighbor     

C：neighborhood

D：neighbors

答案：D

9、He helped me ______ my homework.

A：with

B：to

C：about

D：of 

答案：A

10、He ______ to me last week.

A：is writing

B：writes

C：wrote

D：is written

答案：C

四、完型填空
1、Climate change is one of the most fundamental challenges ever to confront humanity. Its impacts are already showing and will intensify over time __21__ left unchecked. There is overwhelming scientific evidence, __22__ shown in the Fourth Assessment Report (第四次评估报告的综合报告)of the Intergovernmental Panel on Climate Change (IPCC) 政府间气候变化专门委员会(IPCC), that climate change will threaten __23__ growth and long-term prosperity, as well as the very survival of the most vulnerable populations. IPCC projections indicate that if emissions continue to rise at their current __24__ and are allowed to double from their pre-industrial level, the world will face an average temperature__25__ of around 3°C this century. Serious impacts are associated __26__ this scenario (情景), including sea-level rise, shifts in growing seasons, and an __27__ frequency and intensity of extreme weather events such as storms, floods and droughts. 

The United Nations Climate Change Conference in Copenhagen in December in 2009 offers a __28__ opportunity to step up international action on climate change. A Copenhagen deal is __29__  the global transition into green economic growth, and, most urgently, to help the world, especially the most vulnerable, to adapt to impacts __30__ are now inevitable.
(1)、 

  A：if 

  B：whether

  C：when

  D：which
答案： A
(2)、  

  A：because

  B：as

  C：while

  D：when
答案： B
(3)、  

  A：economics

  B：economical

  C：economy 

  D：economic
答案： D
(4)、  

  A：speed

  B：rate

  C：pace

  D：rhythm 
答案： C
(5)、   

  A：rising 

  B：rise

  C：raise

  D：raising
答案： B
(6)、  

  A：with

  B：to

  C：from

  D：in
答案： A
(7)、   

  A：being increased

  B：increased

  C：increase

  D：increasing
答案： D
(8)、  

  A：history

  B：historical

  C：historic

  D：historically
答案： B
(9)、   

  A：necessary

  B：inevitable

  C：essential 

  D：basic
答案： C
(10)、  

  A：that

  B：of which

  C：who

  D：what
答案： A

五、英译汉
(1)、John and his brother differ in personality even if their differences in age are not significant.
(2)、China will build up a space station in ten years.
(3)、Bill hit his car into a wall last night.
六、写作
(1)、Bad Manners in Public
1. 列举人们在公共场所的不良现象。 

2. 对其中某一种现象陈述你的看法，并简单说明理由。
(2)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
Difficulties in Studying English
(3)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
My Favorite Hobby
(4)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
My Favorite Means of Getting Information

1．现代社会获取信息的方式很多
2．我最喜欢的获取信息的方式
(5)、Instructions:建议你在30分钟内，根据下面所给的题目用英语写出一篇不少于80词的短文。
About Health & Wealth

